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NV, = N,V, - 0.05x11= N, x25 — N, = 0.022N =[Ag']+[AgOAC ]
[Ag']=[OAC ]=0.022-1.05*10 > = 0.0115 =S,
1, = }é [(0.05x 1)+ (0.05x 1)+ (0.0115x ) + (0.0115x —~12)] = 0.0615

“logy* - 0.5091x -1/,  0.509/0.10615 0.0965
' 1+1250u,  1+4125/00615
rowl 5,08 A aulo 9 0t el Wliwlxo 54,30 Slpax> oSl B8 wline b @

NV, = NV, = 0.1x9 = N, x 25— N, = 0.036N ) oylois Jslo
S = 0.036— k, = 0.036-1.05x102 = 0.0255 - log S, = —1.59
1= Y5[(0.1x1%) + (0.1 1%) +(0.036x %) + (0.036 x ~1%)] = 0.136
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—1 129
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NV, = N,V, = 0.1x9.5= N, x 25— N, = 0.038N Y o)los Jsloxo
S =0.038—k, =0.036-1.05x107 = 0.0275 > log S, = -1.56

= Y51(0.3x1°) +(0.3x—1%) + (0.038x1%) + (0.038x ~1°)] = 0.338

. 05091x—1\/sy _ 0.5091x-10.338

“logy; = 0171
O ST 15y 1+125/0338

NV, = NV, — 0.1x11.8= N, x 25— N, =0.0472N  -Y o,loss Jsloxo

S =0.0472—k, = 0.0472-1.05x102 = 0.0367 —> log S, = —1.435

1= Y51(05x 1) + (05x ~1°) + (0.0367x1*) + (0.0367 x —1°)] = 0.5367
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